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Reading Text

/—?’—E'—D'Ef A O3} stM|I2?
Do You Often Talk with Your Parents?

Z2| 20| ZALO|| =T 0|2 TMICHRt OF2| A QI 2M|THRte| MCH 2f0[7F Mot A=
LIEFSICE,

According to the recent investigation, there exists serious generation gap
between the first generation and their children, the second generation
immigrants.

o2 TM|t= 4 FOj7t B=510] AHH Lt 2|AF AF S [l 0122 0] QUCY,
First generation immigrants, above all, have difficulties in communicating with
their children because their English is deficient.

£ S0 M 7R E 712|242 O|=0]| FM & BIRA| ol &lE 271 ROt stot
And they have hard time because they cannot adjust their value system they
brought from Korean even after they came to the States.

B2 0|0l A A 2eh WX 2MS2 0|74 Ql 7| 2ot At
o|ct,

On the other hand, the second generation Korean-Americans who grew up in
the States usually establish American value system and life style.
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et Of24st 2t0[7F MITH 2t Z252| Q10| &|= A2 =2 RALE(ULE
Therefore, these differences are the causes of the conflict between the
generations, according to the investigation.

S20] HEHOI 7|2t AHAl0] JHOIFL|7} 20| Yl CfEHE JtR e Y0I0= 248
StCt,

The traditional values of parents and individualism of children come to be the
causes that block in-depth conversations [between them].

HEIE2 O 2AIE sl Zst7| floiiMe 4 M2 UXS HHYA Mzt 2= 210
sttt 2ot

Experts advise that first of all parents and children need to put themselves in
another’s shoes to solve this problem.
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Notes

2odi Badd(Your Parents)+-2H(marker(with))

AkF(Often)

Chst StMIR?: ThEksH(TH (to talk)+-MI2(ending(honorific))?

2| 29| (recent)

ZAHO]| 23 ZAR(investigation)+-0f T2 (idiom (according to))

0|2l 1M|cHet: O]l 1 M|CH(the first generation)+-2Hmarker(with))

=2|(their)

At @l ZHHO[(C}H (to be their children)+-L (ending(relative clause; noun modifying))
2MEH2te]: 2 M|CH(the second generation)+-2t(marker(with))+-2| (possessive marker)

MICH 2tO[Z}: MITH 20| (generation gap)+-7t(subjective marker)

A5t Z1o 2 LIELGCE AMSHCT (to be serious)+- L (ending(relative clause; noun modifying))+
A(thing)+-22 LIEILHT}) (to exist)+-%-(pre-ending(past tense))+-CHending (declarative))
0|2! 1 MCHE: O|2!1 1 MICH(First generation immigrants)+-=(marker(exclusion))

M (above all)

07} FO{(English)+-7}(subjective marker)

2 =510 =5} (to be deficient)+-0 (connective; because)

At @F: At (their children)+-2F(marker(with))

O|AtA =gt Uff: OJALAESHCEL (to communicate)+-2 (conjunctive; when)

0{243 0| UCt: o2 (difficulties)+-0|(subjective marker)+QLCt(to be; declarative)

& (also)



SH20f| M St=2(Korea)+-0fl M (marker(from))
7t%E: 7t2](CH (to have)+-2i-(pre-ending(past tense))+-& (pre-ending(retrospective
marker))

7t2| 28 7t2| B (their value system)+-2(objective marker)
0|=20]: O|=(the States)+-0ll(marker(to))
QtME: 2(Ct)(to come)+-0tM (connective; and then)+-=(connective; even though)

HHREZ| S5l BHE(EH (to change)+-Z| 26H(CH (not)+-0 (connective; because)

glE: el=(CH(to have hard time)+-L (ending (relative clause; noun modifying))
ARt H+-7Hsubjective marker-)

OICtD St 8H(ChH+-Ct SHCT) (quotative(declarative))+- L CHending(declarative))
HHCH 2 (on the other hand)

0| =20f|AM: O|=2(the States)+-0|A{ (marker(in))

g3t “’“3}( b (to grow up)+-L (ending(relative clause; noun modifying))

WX 2MSE: WE 2M|(the second generation Korean-Americans)+= (plural)+-2
(marker(exclusion))

0|=222l (American)

712|231k 71| 2H(value system)+-2Hmarker(and))
AbSE 20ka: MSE 2L (ife style)+-2 (objective marker)

7}A|l= Z40[: 7tZ|(CH (to establish)+-=(ending(relative clause; noun modifying)+Z
(thing)+-0|(subjective marker)
HEO0|CH: EE(usually)+0|CHending(to be))
ttetM (Therefore)
O|2{5H(these)
20| 7}: zt0] (differences)+-7t(subjective marker)
MIcH 2F Z-52]: MItH(the generations)+ZH(between)+Z-S (conflict)+-2| (possessive marker)
21010]: YQl(the causes)+-0|(subjective marker)
Ele Ao 2 RALE|ACE Z[(TH(to be)+-=(ending(relative clause; noun modifying))+24
(thing)+-22 R ALZ[(C}) (to investigate)+-A-(pre-ending(past tense))+-Ct(ending
(declarative))

2o9|: Ed(parents)+-2| (possessive marker)
X E Al (traditional)
7tz |23k 7+z2| 2 (values)+-2H(and)

Al

ZALO|: ZHA (children)+-2| (possessive marker)

20| Q= 20| (CH(to be in-depth)+-=(ending(relative clause; noun modifying))
CHSHS: lZH;}(conversations)+-§(objective marker)

7t28t=: 7t=28HCH (to block)+-=(ending(relative clause; noun modifying))
2I0lo 2 2r25tr}: Ql(the causes)+-22 2235} T} (to come to be)+-L Cf (ending
(declarative))

HE7tE2: dE27HExperts)+= (plural)+-=(marker(exclusion))
O] 2A|E: O|(this)+&A|(problem)+-& (objective marker)
s 85t7| flsiiM=: i Zat(Ch) (to solve)+-7| {3l A (idiom(for))+-=(marker(exclusion))
M=Z9|: MZ(another)+-2|(possessive marker)
AUAS: Y& (shoes)+-2(objective marker)

HFH A BFR(CH (to put)+-0{A{(connective; and then)
2tsl 2= 20| 25T +-0f 2(CH(modal aux.(to try to do))+-=(ending (relative
clause; noun modifying))+Z(thing)+-0| (subjective marker)
L3It 2sic: T SHEH (to need)+-CH 25HEH (quotative (declarative))+- L C
(ending(declaratlve))



Comprehension Check-up

Ao Chal 22 S L7t
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Conversation

Of i CHL|, O 2}Z AR| LOtZHL]?
Dad: Danny, did you search the cars you want to buy?

Cf L 4|, QIEHlie2 & 2I0F B0 Ot X! 0|2 & EAM|2. C|ARI0| dY HURE?
Danny: Yes. | looked for it on the internet. Father! Look at this. The design is so cool,
isn’tit?

Of ti: Of 2= HH|7t H=2 ZZ| 40t J2|1 29150|2t 2Hst7| = ot
Dad: Fuel efficiency of this car is not very good. Also it is inconvenient because it is
two-door.

CH L: 2i = C|RFQI0] HUOIA AL HOL.

&, A 22F et Chd AL 7 22150] £012.

Danny: But | want to buy it because the design is cool.
And | like two-door because | alone will ride the car.

Of tif: =2 C|A[QI0[LE ERMEE S23}4|.

O A8 2= EE05HL 7|8 240] AAH| S0{0F 2 X|OF. 0] 2f= OHL?

Dad: Of course design and brand are important.

However, good cars are the ones that are strong and cost less for fuel. How about
this car?

O Lj: 07 42 2A2i9)2 M2 010 O S8,
Danny: That is awful. | don’t like the color either.

O tt: O] Z|AF 2f7F EESITIL SHEIH|, {5 OFZ0] o EL?

==©°

Dad: People say that the car from this company is strong. Do you not like this at all?

Cf L|: A= o7k 2 1 2HE At 4012,
Danny: | want to buy the car | picked before.

Of tif: 113 O|tH =2r0f| Ot R[5t S0t A| 0] 7HEAL,

7tM 2y B0 AdsteE Al 40

Dad: Well, then, let’s go to the used car market with me this weekend.
It would be better to go and see for ourselves and then decide.
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Notes

L (Danny)

01551 (WhICh)

2= 2f(car)+-=(objective marker)

M?<| AHCH (to buy)+-2 Z|(connective; to guess)

AOpL|?: Lot
interrogative))?
Ul (yes)
RIgHIeZ: 0l
2otgtoje: 20
Ot 2| (Father)
O] A(this)

E
t

(ChH (to search)+-%-(pre-ending(past tense))+-L|(ending(pain style;

Yl(the internet)+-22(marker(on))
2 (CH(to look for)+-2t-(pre-ending(past tense))+-H L (ending(polite))

BML: E(C)(to look at)+-M|2(ending(imperative))
C|Z10]: C|ARI(The design)+-0|(subjective marker)

2 (s0)

HRUZ?: HRJA(TH (to be cool)+-A|27?(ending(for inviting confirmation or agreement))
0| zf=: O] (this)+ZtH(car)+-=(marker(exclusion))
HH|7t: 8| (Fuel efficiency)+-7Hsubjective marker)
Z 2| 20k Z(CH (to be good)+-A| 2(CH) (not)+-0kending(pain style: declarative))
2|22 (and also)

29150]|2f: 2215 (two-door)+-0|2t(connective; because)
=5t/ | = ot 2M5HCT} (to be inconvenient)+-7| = 5HCH+-12 ending (because;—

connective)
20 = (But)

HUA A HRU(E}) (to be coo|)+-O1A1 (connective; because)
At A0{2: AHCH (to buy)+-1 4 (CH (modal aux.(to want to))+-0{ 2 (ending(polite))

CE(and)



1)
t(alone)

10 EHCP (to ride)+-Z1(connective; and then)

CHe AHY 7t ChL(CH+-2 HCHmodal aux. (will))+-L| 7t connective; because)

20150 | 2°1& (two-door)+-0| (subjective marker)

Z0t2: Z(Ch) (to like)+-0t2 (ending(polite))

g%(Of course)

C|ZRI0|Lt: TR}l (design)+-O|Lt(marker(or))

galE: E2HE (brand)+-=(marker(also))

25| 2235HCH (to be important)+-A|(ending(for insisting with speaker’s strong conviction))
= 2|2t (but)

2t 2t(car)+-=(marker(exclusion))

EE5tn: EESHTH (to be strong)+-1(connective; and)

7|8 240|: 7|2 Zf(cost for fuel)+-0|(subjective marker)

0 0||N

=0{0F: =(Ct)(to cost)+-0{0Fk(modal aux.(too need to))
Z 2! Z(C})(to be good)+-2(ending (relative clause; noun modifying))
2}0F: z}(cars)+-0F(ending(pain style: declarative))
ML ? € (CH (5 irregular(how about)) + -L|(ending(pain style; interrogative))?
A AZ(That )+-2(marker(exclusion))
2 (too)
2422 2AE (T} (to be awful)+-0{ 2 (ending(polite))
ARZEE 0 M7Z2E (color)+-=(marker(also))
OtS0f| ot =10Q: 0F20f| 2t =(ChH(not to like)+-12.2 (ending(and—connective))
0| 3|At zt7}: O] 3| At ZFH(the car from this company)+-7}(subjective marker)
EE5iCt stEd): EESHC (to be strong)+-Ct2 5HCF (quotative(declarative))+-H (pre-ending
(retrospective marker))+-Gl(ending(to explain an occasion which someone saw or experienced
in a retrospective way))
A3 (not at all)
020 ot =L ?: Or20]| 2t =(C}) (not to like)+-L|(ending(pain style; interrogative))?
A= A () +-=(marker(exclusion))
Of7t(before)
2 B (T (to pick)+-L (ending(relative clause; noun modifying))
1 2&: (the)+xl(car)+-Z(objective marker)
AP0 A2 AHCH (to buy)+-12 A(CH(modal aux.(to want to))+-0{ 2 (ending(polite))
& (Well)
O|&H F&rof|: O|H F&(this weekend)+-0f|(marker(on))
OFH{ 2|5t 12 OFHZ|(me)+-3t 12 (marker(with))
=02t AZ0||: 2102} A2 (the used car market)+-Olmarker(to)
7t B2} 7HE} (to go)+-0F E.(C}) (modal aux.(to try to do))+-At(ending(pain style: propositive))
7tA: 7HTH) (to go)+-OFA{ (connective; and then)
21 (for ourselves)
B H(T}H(to see)+-12(connective; and then)
ZYote Al EZCt 2 5HCTHto decide)+-= Al ZZICHmodal aux.(to be good to do))



©  Comprehension
1. OMHZ|= M AtS2HE MCH (T/F) #YF)
2. L= CJARIO| U= ALSAHE ZOISICH(T/F)  #ET)
N
» Vocabulary
S atet 2 E 03] MSol 2adst B3
1S Seater or20f SCt to like something/someone
°ﬂH|o fuel efficiency ZAC} to be countrified
C|Z}Ql design ol 2|C}/0f| e C} to be wonderful,
HEELEW | brand
7|E S
;%;%515 (steering) wheel IEf 01|
Z —
= seatlsafety] belt MICH 2tO| the generation gap
OAIAE communication
7bx| 2 values
ZHQ1==9] individualism
s conflict
el cause
il position/ stance
n .
© Exercise
1. S St &0z g1 RAUSH= A2 ™SI
1) YSERA|Z]  2) A 3) QHHYE [#E 2]
2A0E 22 7t el=Ct.
1) QAtAEStZ|  2) 7t2%7]  3) "7 [#E 1]
3. WX 2MS2 0|=23Ql oF ME S22 JHA| 2 QU
1) 2t0]  2) QI 3) 7px|& [#E 3
4. M2 AEIMZIE . 7ol DY YUt
1) 222{¥AM  2) M 3) OLSO| SO{AM [#E 3]



- Explanations
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Reading & Writing
of2{&0| AZ7| A2} ‘4Ztstl CHEat ZHo| hgjH| 'S A2 2 St 7[AFE M EAH2
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